
1

スタンドの組み立てと横設置

本体に付属の部品：マーカートレイ（1個）、サイドカバー（2個）、マーカートレイ取り付けM4×8ネジ（3本：開梱時

に外したネジ）、本体取り付けM4×12ネジ（8本）

スタンド梱包一覧（横設置で使用する部品）
脚（キャスター付）：2本、脚カバー：2本個、フレーム：2本、脚座金：2個、脚固定ネジM8×50：4本、

スプリングワッシャ：4本、延長フレーム：2本、キャップ：2個、固定ノブ（袋ナット付）：2個、横バー：2本、

六角穴付ネジ：4本、平ワッシャ：4個、上部ブラケット（左右）：2個、下部ブラケット：2個、

六角レンチ（M8）：1本、六角レンチ（M5）：1本

●組み立てと設置の流れ

スタンド組み立て 
マーカートレイを 
本体に取り付け 

ブラケットを本体に 
取り付け 

スタンドに本体を 
取り付け 

スタンド組立説明書
型名　M-5-T

警告
●設置および組立は、必ず本書に基づいて行なってください。誤った設置や組立はけがの原因となります。
●コピーボード本体の取り付け、取り外しには2人以上の人数で行ってください。

M-5専用スタンドはコピーボード本体を横向きに設置（横設置）したり、縦向きに設置（縦設置）
することができます。目的に合わせた組み立てを行ってください。
組み立にはコピーボード本体に付属の部品も使用しますのでご用意ください。

［横設置］ ［縦設置］



2

横バー 

T字型脚 

横バー 

六角レンチ 
（M5） 

六角穴付き 
M5ネジ 

平ワッシャ 

フレーム 

延長フレーム 

キャップ 

脚カバー 

脚 

六角穴付きM8×50ネジ 
六角レンチ（M8） 

12

4

3
脚座金 

スプリング 
ワッシャ 

（1）T字型脚を組み立てます（2本）。
�脚を脚座金、スプリングワッシャ、六角穴

付きM8×50ネジを付属の六角レンチ

（M8）で取り付けます。

（2）横バー2本を(1)で組み立てたT字型脚に取
り付けます。
六角穴付きM5ネジと平ワッシャで取り付けます。

付属の六角M5用レンチを使って仮止めし、上下の横バー

を取り付けた後に本締めします。

※組立は平坦な場所で行ってください。

お知らせ

�脚の向きに合わせて脚カバーをフレームに入れ、更に脚カバ

ーを下げて脚にはめ込みます。

�フレーム先端のマークに延長フレームのマークの向きを合わ

せて奥まで差し込みます。（マーク面を逆にして差し込むと、

延長フレームが抜けなくなりますのでご注意ください。）

・延長フレームを取り付けると床からの高さが1700mm、

取り付けないと1465mmになります。

これにより高さの調節を行います。

・延長フレームを取り付けない組み立て方は「スタンドの組

み立てと縦設置」の（1）をご覧ください。

�フレーム上部にキャップをはめ込みます。

（3）マーカートレイを本体に取り付けます。
＊工場出荷時は梱包のため本体に固定されていす。
ネジを外し、向きに注意して取り付けてくださ
い。

�付属のマーカートレイの両端にサイドカバーを

はめ込みます。
●サイドカバーは右用と左用があります。

�M4×8ネジ3本を本体に仮止め（約3mmぐら

いあける）します。
●付属のドライバをご使用ください。

�仮止めのネジ（3箇所）にマーカートレイを差

し込み、本締めします。
● サイドカバーおよびマーカートレイは奥まで
差し込んでください。

1

2

3

3

M4×8ネジ

マーカートレイ

サイドカバー



3

（5）本体の上部ブラケット（左右）をスタン
ドに引っかけ、下部ブラケットを固定
ノブと袋ナットで締め付けます。

固定ノブ 

袋ナット 

注意
● スタンドが滑り出さないようにキャスターをロ
ックしてください。

● 設置及び高さ調整をする時には、本体は2人以
上で持ってください。落下や転倒して思わぬけ
がの原因となります。

（4）上部ブラケットと下部ブラケットをM4×12ネジ

で本体に取り付けます。
・上部ブラケットには左用と右用があります。間違わないでくだ

さい。

・下部ブラケットは左右共に同じ形状ですが各々外向きに取り付

けてください。

下部ブラケット 

M4×12ネジ 

M4×12ネジ M4×12ネジ 

上部ブラケット（左） 

M4×12ネジ 

上部ブラケット（右） 

下部ブラケット 



4

スタンドの組み立てと縦設置

本体に付属の部品：取り付けネジM4×12：6本

スタンド梱包一覧（縦設置で使用する部品）
脚（キャスター付）：2本、脚カバー：2本個、フレーム：2本、脚座金：2個、脚固定ネジM8×50：4本、

スプリングワッシャ：4本、キャップ：2個、固定ノブ（袋ナット付）：2個、横バー：2本、六角穴付ネジ：4本、

平ワッシャ：4個、上部ブラケット（左右）：2個、下部ブラケット：2個、六角レンチ（M8）：1本、

六角レンチ（M5）：1本、縦置きペントレイ：1個、サイドカバー：2個、M3化粧ネジ：2本

●組み立てと設置の流れ

（1）T字型脚を組み立てます（2本）。
�脚を脚座金、スプリングワッシャ、六角穴付きM8×50

ネジを付属の六角レンチ（M8）で取り付けます。

�脚の向きに合わせて脚カバーをフレームに入れ、更に脚

カバーを下げて脚にはめ込みます。

�フレーム上部にキャップをはめ込みます。

（2）横バー2本を(1)で組み立てたT字型脚に取り
付けます。
六角穴付ネジと平ワッシャで取り付けます。

付属の六角レンチを使って仮止めし、上下の横バー

を取り付けた後に本締めします。

※組立は平坦な場所で行ってください。

スタンド組み立て 記録画像の 
縦向き設定 

スタンドに 
本体を取り付け 

ブラケットを本体に 
取り付け 

縦置きペントレイ 
を本体に取り付け 

フレーム 

キャップ 

脚カバー 脚 

六角穴付きM8×50ネジ 
六角レンチ（M8） 

12

3 脚座金 

スプリング 
ワッシャ 

横バー 

T字型脚 

横バー 

六角レンチ 

六角穴付き 
ネジ 

平ワッシャ 



5

（5）縦置きペントレイの取り付け
�目隠しシール（2箇所）を剥がしてネジ部を

出します。
�縦置きペントレイの両端にサイドカバーをは

め込みます。
●サイドカバーは右用と左用があります。
�M3化粧ネジ2本を本体に仮止め（約3mmぐ

らいあける）します。
�仮止めのネジ（2箇所）にペントレイを差し

込み、本締めします。
●サイドカバーおよび縦置きペントレイは奥ま
で差し込んでください。 2

4

1

3

縦置きペントレイ

サイドカバー

M3化粧ネジ

目隠しシール

（3）上部ブラケットと下部ブラケットを
M4×12ネジで本体に取り付けます。
・上部ブラケットには左用と右用があります。間違

わないでください。

10度傾斜設置時 

垂直設置時 

固定ノブ 

袋ナット 

（4）本体の上部ブラケット（左右）
をスタンドに引っかけ、下部ブ
ラケットを固定ノブと袋ナット
で締め付けます。
角度調整用に下部ブラケットには2箇

所（垂直、10度傾斜）のネジ穴があ
ります。目的のネジ穴を選んでくださ
い。

注意
● スタンドが滑り出さないようにキャスターをロックして
ください。

● 設置及び高さ調整をする時には、本体は2人以上で持って
ください。落下や転倒して思わぬけがの原因となります。

M4×12 
ネジ 

下部ブラケット 

上部ブラケット 

M4×12ネジ 



6

スタンドのキャスターロック／解除の
しかた
ロックボタンの下を押すと固定されます。
上を押すと解除されます。

設置後はストッパーでキャスターを固定し
てください。また、移動時にはストッパー
を解除してください。

（6）記録画像の縦向き設定
工場出荷状態時は横設置に設定されています。次の手順で縦置きに設定してくだ

さい。

準備：1. AC電源アダプタを本体と電源コンセントに接続してください。接続の
しかたは取説簡易版または取説CD版をご覧ください。

2. クリップを伸ばしたものなどを準備してください。

� Powerボタンを押して電源を入れてください。（Powerランプ点灯）

� Positionの針穴にピンを入れて押します。
Memoryランプが5秒間低速点滅して縦置きに設定されます。

横置きに戻すにはもう一度押します。

Powerランプが5秒間低速点滅して横置きに設定されます。

針穴内のボタンは押すごとに縦置き／横置き設定が交互に切り換わります。

お知らせ

M
E
M

P
O
W

E
R

C
L
E
A
R

P
O
S
IT
IO

N

F
E
E
D

  
 /
S
T
O
P

M
-5

解除

固定
ご注意

コピーボード 

M-5

「横置き設定」 
の画像表示 

「縦置き設定」 
の画像表示 縦置設置 

コピーボード 

M-5

コ
ピ
ー
ボ
ー
ド
 

M
-5

13-2112-04B



1

Assembling the stand and mounting the copyboard horizontally

Parts included in the copyboard package: Marker tray (1 pc), side covers (2 pcs), M4 x 8 marker tray installation
screws (3 pcs, screws removed when unpacking),  8 copyboard mount screws (M4 x 12)

List of parts included in the stand kit (parts used for horizontal installation)
Feet (with casters) : 2, Frames : 2, Foot washers : 2, Foot fixing screws (M8 x 50) : 4, Spring washers : 4,
Extension frames : 2, Caps : 6, Fixing knobs (with hexagon cap nuts) : 2, Crossbars : 2,
Hexagonal socket head screws : 4, Flat washers : 4, Upper brackets (left and right) : 2, Lower brackets : 2,
Hexagonal wrench (M8) : 1, Hexagonal wrench (M5) : 1

�Assembly and installation flow

Mounting the 
copyboard 
onto the stand

Assembling 
the stand

Mounting 
the marker tray 
on the copyboard

Mounting 
the brackets 
on the copyboard

   WARNINGS

• Be sure to install and assemble the copyboard as instructed in this manual. Improper installation or assembly
could lead to injury.

• At least two people should hold the copyboard when installing and removing it.

(Model M-5-T)

Stand Assembly Manual

This dedicated stand for the M-5 Copyboard allows the Copyboard to be set up in the horizontal or vertical orientation.
Please assemble the stand in the orientation that suits the purpose.

Note that the parts supplied with the Copyboard will also be used in the assembly.

[horizontal orientation] [vertical orientation]



2

3

1

2

3

Marker tray

Side covers

(3) Attach the marker tray to the Copyboard.
* The marker tray is fixed on the M-5 upside down for

the transportation. Please remove it before you
assemble the M-5, and then fix it again at the normal
position.(Please make sure the orientation of the
marker tray.)

� Insert the side covers into both ends of the marker
tray.
• Note that there are left and right type side covers.

� Temporarily fasten the three M4 x 8 screws into the
Copyboard (leaving about 3 mm)
• Use the supplied screwdriver.

� Insert the marker tray over the 3 screws that have
been temporarily fastened, and then tighten securely.
• Please insert the marker tray as far as they will

go.

M4 x 8 screws

1

2
3

3

3

Cap

Extension frame

Frame

Cap

Cap

Foot

Spring 
washer

Foot washer

M8 hexagonal wrench

M8 x 50 hexagonal 
socket head screw

T-shaped leg

Crossbar

Crossbar

Flat washer
M5 hexagonal 
socket head 
screw

M5 hexagonal 
wrench

(1) Assemble the T-shaped legs (two).

� Mount the foot using washers, spring wash-
ers and M8 x 50 hexagonal socket head
screws.

� Make sure of the orientation of the extension frame
and the frame end looking at the marks, then insert
all the way. (Note that it will no longer be possible to
remove the extension frame when the mark sur-
face has been inserted in the opposite orientation.)
Notice:
• Mounting the extension frame makes for a height

of 1700 mm off the floor (compared to 1465 mm
without the extension frame). Use this to adjust
the height.

• For the assembly procedure when not mounting
the extension frames, see step (1) under “Assem-
bling the stand and mounting the copyboard ver-
tically”.

� Fit the caps on the top of the frame and feet.

(2) Mount the two crossbars onto the T-shaped
legs assembled in (1) above.
Mount them using the M5 hexagonal socket head
screws and flat washers.
Temporarily fasten the screws using the included M5
hexagonal wrench, then fasten them securely once
both the upper and lower crossbars have been
mounted.

* Assemble in a flat place.



3

Fixing knobs

Hexagon cap nuts

(4) Mount the upper and lower brackets using M4
x 12 screws.
• The left and right upper brackets are different. Be

sure to mount them on the proper side.
• Both the lower brackets have the same form, but

mount them in the opposite directions so that each
is facing outwards.

M4�12 screws

M4�12 screws M4�12 screws

Lower bracket (Left)
Lower bracket (Left)

Upper bracket (Left)

M4�12 screws

Upper bracket (Rightt)

(5) Hook the left and right upper brackets of the
Copyboard onto the upper crossbar and fas-
ten the lower brackets using the fixing knobs
and hexagon cap nuts.

 CAUTION
• Lock the casters so that the stand does not move.
• When mounting and adjusting the height, at least

two people should hold the copyboard to prevent it
from dropping or tipping over, resulting in unex-
pected injury.



4

Changing the 
image storing 
setting to “vertical”

Assembling 
the stand

Mounting 
the brackets 
on the copyboard

Mounting 
the copyboard 
onto the stand

Mounting the 
vertical marker tray 
on the copyboard

Assembling the stand and mounting the copyboard vertically

Parts included in the copyboard package: 6 copyboard mount screws (M4 x 12)
List of parts included in the stand kit (parts used for vertical installation)
Feet (with casters) : 2, Frames : 2, Foot washers : 2, Foot fixing screws (M8 x 50) : 4,
Spring washers : 4, Caps : 6, Fixing knobs (with hexagon cap nuts) : 2, Crossbars : 2,
Hexagonal socket head screws : 4, Flat washers : 4, Upper brackets (left and right) : 2, Lower brackets : 2,
Hexagonal wrench (M8) : 1, Hexagonal wrench (M5) : 1, Short marker tray:1, Side covers: 2
M3 decorative screws : 2

�Assembly and installation flow

(1) Assemble the T-shaped legs (two).
� Mount the foot using two M8 x 50 screws (+ spring

washers).

� Fit the caps on the top of the frame and feet.

(2) Mount the two crossbars onto the T-shaped legs
assembled in (1) above.
Mount them using the hexagonal socket head
screws and flat washers.
Temporarily fasten the screws using the included
hexagonal wrench, then fasten them securely once
both the upper and lower crossbars have been
mounted.

* Assemble in a flat place.

1

2

2

2

Cap

Frame

Cap

Cap

Spring 
washer

Foot washer

M8 hexagonal wrench

M8 x 50 hexagonal 
socket head screw

Foot

T-shaped leg

Crossbar

Crossbar

Flat washer
M5 hexagonal 
socket head 
screw

M5 hexagonal 
wrench



5

(3) Mount the upper and lower brackets
using M4 x 12 screws.
• The left and right upper brackets are different.

Be sure to mount them on the proper side.

(4) Hook the left and right upper brack-
ets of the Copyboard onto the up-
per crossbar and fasten the lower
brack-ets using the fixing knobs
and hexagon cap nuts.
There are two screw holes for adjusting
the angle (upright or 10 degrees) on each
lower bracket. Use the desired screw
holes.

 CAUTION
• Lock the casters so that the stand does

not move.
• When mounting and adjusting the height,

at least two people should hold the
copyboard to prevent it from dropping or
tipping over, resulting in unexpected in-
jury.

(5) Mount the short marker tray.
� Peel off the two cosmetic seals to expose the

screw parts.
� Insert the side covers into both ends of the short

marker tray.
• Note that there are left and right type side

covers.
� Temporarily fasten the two M3 decorative

screws to the Copyboard (leaving about 3 mm).
� Insert the marker tray over the two screws that

have been temporarily fastened, and tighten se-
curely.
• Please insert the short marker tray as far as

they will go.

Upper bracket

M4 x 12 
screws

M4 x 12 
screws

Lower bracket

1

3

2

4

Short marker tray

Side covers

Cosmetic seals

M3 decorative screws

 Fixing knobs

 Hexagon 
cap nuts

To mount at a 10º angle    

 To mount upright



6

M
E
M

O
R
Y

P
O
W

E
R

C
L
E
A
R

P
O
S
IT
IO

N

F
E
E
D

  
 /
S
T
O
P

Copyboard

M-5
Co

py
bo

ar
d

M
-5

Copyboard

M-5

Vertical Position 
Image display 

for vertical position

Image display 
for horizontal position

(6) Vertical Image Setting.
The Copyboard is set for horizontal position when shipped from the factory. Please
set for vertical position using the following procedure.
Preparation: 1. Connect the AC power adapter to the Copyboard and the power

outlet. See the User's Manual for information about the con-
nection method.

2. Prepare a tool to press the button in the pin hole, for example a
paper clip that has been bent out, etc.

� Press the POWER button and switch on the power. (The Power indicator
will light.)

� Insert the pin into the POSITION pin hole and push.
The MEMORY indicator will blink at a slow rate for 5 seconds and the
Copyboard will be set for the vertical position.
Notice:
To switch back to horizontal, press the POSITION button again.
The POWER indicator blinks slowly for 5 seconds, and the position setting is
switched back to horizontal.
The setting switches between vertical and horizontal each time the button in the
pin hole is pressed.

Unlocked
 

Locked 

Locking and Unlocking the Casters of the
Stand

Pressing the bottom of the lock button
will lock the casters. Pressing the top
will unlock the casters.

Note
After setup, lock the casters using the
stoppers. Unlock the stoppers before
moving the Copyboard.

13-2112-04B


	日本語
	English

